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MATLAB T %42 % ZLBode F &9 43

k0=Ef, bE;

nl=1;

dl=corer{corer ([0, 0458 1], [0.026 113, [0. 00167 113 ;

[magz, phaze, wl=bode (k0, d1) ;

figure(l) :marginimag, phase, w) ;%i'u:-ld ot
figure(2);=1=tf (k0/0. 01155, 41} ;
svs=feedbacki=1,0.011588) ;stepi=sys, 2)¥one—colse one—step
ne=[0.049 1];

d2=[0. 088 0];

di=corer (dl, d2) ;

[magz?, phaze?, w2]=bode (k0/214n2, d3) ;

figure (3} ;margin(mag?, phaze?, w2} ;

figure(d);s2=tf (k0/21/0. 01158+n2, d3) ;
svs=feedback (=2, 0.01158) ;step(=zvs, 2)%one—colse one—step
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Bode Diagram
Gim = 0,955 dB (st 190 racisec) , Pm = -1.59 deg (st 201 racisec)
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MATLAB T %42 5 #.Bode & #9 2 %

k0=hhb, bE;

nl=1;

dl=conv (conw ([0. 049 11, [0.026 11), [0.00167 11);

[mag, phaze, w]=bode k0, d1) ;
figure{l};margin{mag,phase,w};%hnld on
figure(2);=z1=tf (k0/0. 01158, d1};
sve=feedback (=1, 0. 01158) :step(svs, 2)¥one—colse one—step
n2=[0.04%9 17];

de=[0. 088 0];

di=convidl, 42} ;

[mag?, phaze?, w2]l=bode (k0/21*n2, d3) ;

figure(3) ;marginimag?, phaze?, w2) ;

figure(d) ; =2=tf(k0/21/0. 01158+n2, d3) ;
sve=feedback (=2, 0. 01158) :step(svs, 2)¥one—colse one—step
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Bode Diagram

5 = 26.5 dB (al 152 rac/sec) , P = 54.4 deg (ot 25.1

rad/sec)
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